PHY 117 HS2024

Week 8, Lecture 2
Nov. 6th, 2024

Prof. Ben Kilminster
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Hydrogen Hydrogen
Electrons from hydrogen

(a) Electron shells in a (b) Distribution of partial
water molecule charges in a water
molecule
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(a) An external field Eqy; is applied ~ (b) The free charges redistribute  (c) Once the charge has settled, the
to a slab of conducting metal. and create an internal field Ej,q. internal and external fields cancel.
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(d) Plot of electric field vs. 7.
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When torque is zero, angular momentum is zero.

In the direction of the angular momentum of the spinning object.
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(a) The handle allows the d) T dicul . N E )
disk to spin around its axis (d) Torque 7 perpendicular OV\ O\ Sf | NN\ f\j o J (&] .

to angular momentum L, will

and around the pivot. only change its direction.
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In an enclosed system of two pistons, the pressure is higher on the smaller
piston than on the larger piston.

In a cycle, where P, = P, and V; = V}, no work is done.
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